all
4
ES
N
000 N QE
)
™~ N
8%
N
e
,' PART No. [ DESCRIPTION QTY.
W300G 5M STD. W BEAM 1
b2 W500G STIFFENER PLATE - W BEAM 1
B600G 6mm BLOCKOUT 2
P600G émm POST - 1800mm 2
F1002 M16 x 32 SPLICE BOLT & NUT 8
Fl04 M16 x 50 POST BOLT & NUT 2
F103 M16 x 30 HEX. HD. BOLT & NUT 4
FW90D M16 ROUND WASHER GALV. 2
AN TOLERANCES CLIENT ITEM
NS A\CP GUARDFENCE TYPE B
NN Whole Numbers :  +2
) ) STEEL POST PANEL
One Decimal Place :+0.05 MATERIAL
Australian Construction Products Pty Ltd |pes age: =2 STEEL TO AS/NZS 1594 DRAWING NUMBER
329 Horsley Road Mil NSW 2214
B | FINSH REVISED 1B |27-01-04] p'o. Box 342 Pananiz NSW 2213 Stughnes - t5prsn|_ GA017
A | ORIGINAL ISSUE LB [15-01-03 | Tel:+61 2 9772 4172 Fax: +61 2 9792 6272 |UNLESS OTHERWISE SPECFIED PRETREATMENT TO AS 1627 TRAWN CHECKED APPROVED
REV. DESCRIPTION APPD.[ DATE A Subsidiary of the Southern Steel Group Pty Ltd Scale: NTS HOT DIP GALVANISE TO AS/NZS L4680 w.C RT




